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Materials
For this paper you must have:

Instructions

L

For Examiner’s Use

a calculator Question Mark

mathematical instruments !
a copy of the Data Book (Examination) (enclosed). — P

Use black ink or black ball-point pen. Draw diagrams in pencil.

Answer all questions. 4

You must answer the questions in the spaces provided. Do not write outside
the box around each page or on blank pages.

Do all rough work in this book. Cross through any work you do not want to be
marked.
State the units of your answer where appropriate.

Information

The marks for questions are shown in brackets.

The maximum mark for this paper is 60.

You may ask for more answer paper, graph paper and tracing paper. These
must be tagged securely to this answer book.

Evidence of checking is specifically assessed in Questions 2(a) and 3(a).
These questions are indicated with a .

Advice

In all calculations, show clearly how you work out your answer.
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Recommendations

Based on your results from this initial
assessment, we estimate you are
currently at Level 1.5,

From this diagnostic, we think one of
the following courses would be

suitable:
Functional Skills English Initial Assessment

L Functional Skills
Maths Level 2

=35 @105
Start initial AssessmEnt

Functional Skills Maths Initial Assessment b3

Pick my own

Start initial Assessment

v’ Explainer videos on every topic

v'  Quick-fire style mutiple choice
questions
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v Written solutions for all
questions

Course Completion %

Previous Results for Addition and Subtraction (including

16 TOPICS

Using Numbers

Start Learning

FUNCTIONAL SKILLS
ONLINE COURSES

v Your answers are analysed to
determine your Current Level

v Suggested courses for you to enrol
on based on your calculated level

v’ Always know the level you are
currently working at

v Determine when you are ready to
sit your exam

27.08% Complete

Or visit

See your progress through as you
progress through each topic area

Get your average scores for practice
questions, topic tests and mock exams

View all practice question, topic test
and mock exam attempts over time

View historical attempts to analyse
your progress over time
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Answer all questions in the spaces provided.

1 Dance Show

Sue runs a dance school.

‘ The students at my dance school are in a show.

1 (@)  The show has four tap dances and one ballet dance.

Each dance has three of these students.

Amy Dita Fiona Grace Leah Mel Tia

* Amy, Dita and Tia are in the 5th dance.
¢ Amyis not in the 1st dance.

» Grace is not in the ballet dance.

» Each student is in at least two dances.

* No student is in consecutive dances.

Show one possible plan for the students.
[5 marks]

L
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Practise on this grid.

|
Dance | Type Students '
-
1st Tap
2nd Tap
3rd Ballet
sh | Tap "
5th Tap |
Put your answer on this grid.
Dance Type Students
1st Tap (Grrace G onon Ko
2nd Tap D‘ foo Lok Me |
3rd Ballet ﬂm\j ]{’,‘Onc\ ’r: o
4th Tap Greace Lech Me
_1
Lsth Tap Amy) D-\} oY ‘ T' a ‘
Question 1 continues on the next page
N - _ Turn over »
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1 (b) Sue makes costumes for the show.

She wants to cut out 10 of these shapes from a piece of material.

< G e . Not drawn
j accurately
|
20 cm
v
Each scale drawing opposite shows the piece of material.
Sue says,
“| can cut out 10 of these shapes from this piece of material.”
Is she correct?
Use the scale drawings to show your working.
[5 marks]
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Practise on this scale drawing.

Scale j represents a 10 cm by 10 cm square

Put your answer on this scale drawing.

Scale represents a 10 cm by 10 cm square

-

,
L

o~

AN

i

Turn over »
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1 (¢) The show is on for two nights.
For each night, there are
80 adult tickets at £10.50 each
and
60 child tickets at £7.20 each.
The total cost of putting on the show for two nights is £925
Sue sells 90% of the adult tickets and g- of the child tickets.
She says,
“We have made more than £1200 profit.”
Is she correct?
You must show your working.
[7 marks]
AdwW-
R0 x0-9 =71.
72 x $l0.50= 156
— I 2/ ;
Cd: 60x 2= 4{o.
Hox fl0=  §2RR
._ %«156 = Sflz}_g = q’—-loi—i‘-& __per rf\_t\‘]‘f\* .
5 FURR  porad
£2088 - fqg = f\63
She 5 nor Correck.
7
L
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2 Minibus
There is a data sheet for Minibus.

12 (a) Samir wants to hire some minibuses to go to a hockey match.

. | need enough minibuses to carry 96 people.

Samir

Each minibus can carry 15 people.

How many minibuses does Samir need to hire?

[2 marks]
ae
5 6.4 2 T iaouws noeeded
Check your answer.
Show how you have done your check.
[1 mark]
b4 xtg=qa6. .
Question 2 continues on the next page
Turn over »

L
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2 (b)

2 (c)

outside the
box

14 friends are going to Truro for a weekend.

12 of the friends will travel from Southampton.
They will pick up the other 2 friends in Bristol.

Circle the total number of miles for the journey to Truro.

Southampton ——> Bristol ———> Truro

214 208 536

The friends look at this advert.

[1 mark]

Minibus hire
5 £28 per day
plus
65p per mile

1
|
]

They drive the minibus for 3 days.
On Friday the minibus will travel
Southampton ——> Bristol ————> Truro
On Sunday the minibus will travel
Truro ————> Bristol ——> Southampton
Each friend from Southampton will pay £10 more than each friend from Bristol.

Will each friend from Southampton pay less than £357

You must show your working.
[7 marks]

2% 2 = 18«

$0-bSx 2x g =  EIF. 4O
5  fgu + % 3ug.s0= #3140

| ‘“N ||m |I‘| IIH |B/M/Jan18/4368
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ey x be We  amank  ak each
Q{i'&ﬂd‘ o Soudnermion oyl

\20c + 20x-1w0) = 432.40

jux -0 = W3-

D l4oc= 452.4 -
Doz SRR, . 3

Question 2 continues on the next page

M

Turn over »

IB/M/Jan18/4368



Do nat write

PassFunctionalSkills.co.uk 10 pestssligan

box

2 (d)  Onthe journey, they come to a low bridge.

The height of the minibus with a loaded roof rack is 3.1 metres.

Will the minibus pass under the bridge?

You must show your working.
[4 marks]

10'- 6" = 126 = 10.§
(0-Sx 0-2048 = 3.2004m .,

3-1 ¢« 3-2004% o

Yes, ¥ will pass  under.

A
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3 Guide Dogs in training

Guide Dogs train at a centre each day from Monday to Friday.

In the evenings and at weekends, people look after them at home.

i g

Sarah looks after Buddy.

Sarah takes Buddy from her home to the centre.
She then travels to work.

Sarah makes these notes.

Home to centre 10 miles I
average speed 30 miles per hour |

At centre 5 minutes ,

~ Centre to work % of an hour

‘MI 1Im!— Hll |B/M Jan18/4368
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13 (a) How many minutes does Sarah take to travel from her home to the centre”
[2 marks]
l-(:r‘ [
30 1 oA ) ar 2_() oy e S

Check your answer,

Show how you have done your check.

[1 mark]
20 .
—_ 0= 10 4
w0 X 0 .
3 (b) Sarah needs to arrive at work by 9.00 am
Work out the latest time that she can leave home.
[3 marks]
i
- h
"0 = hSpias,
q: Ooom - (L-fg'mrn + Soin + 20 "\"")
= 1:50am.
Question 3 continues on the next page
Turn over »

i

1B/M/Jan18/4368



PassFunctionalSkills.co.uk 14 e
ol L

boy
The daily amount of food for a dog depends on the weight of the dog.

Weight Daily amount

of dog of food

10 kg 176 g

20kg 2319 | 25 kg is halfway between 20 kg and 30 kg

30 kg 402 g | The daily amount of food for a 25 kg dog is 349 g

40 kg 494 g

Dogs get two feeds each day.
Morning feed Half the daily amount

Evening feed Half the daily amount

3 ()  Buddy weighs 35 kg
Sarah uses a cup to measure out the morning feed.

1 cup holds 96 g

Sarah says,
“| need to measure out between 2:1- and 2% cups.”

Is she correct?
You must show your working.
[5 marks]

1,_01*—&0\&

C’_)Shj_?_ - c qqgﬂ__mded for e dy

LR e .

z T 2ty Lo moming faod
224 I
P - 2%,

' ’II‘I! M!Jm |I“ LA URIE R
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3 (d) Omar looks after a different dog.
The daily amount of food for his dog is 349 g

Omar says,
“A 20 kg bag of food is enough to feed my dog for 60 days.”

Is he correct?
You must show your working.
[4 marks]
ZOEJ = 20 OOOj :
200004
31-\-‘3!3 _P 573 d"jf-
He s Tncorrect
15
Turn over for the next question
Turn over »
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4 Wages
There is a data sheet for Wages.

.
- X | My company makes T-shirts.

Bob

The table shows the number of T-shirts 20 piece workers made in one hour.
Number of T-shirts | Number of workers

e 4
o s
; | .
10 | 2
Total | - 20

T

1B/M/Jan18/4368
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4 (a) Show that the mean number of T-shirts made per worker is 8

(7 xa) 4 (¢xa) + (axS) +(iovdy =
63+ 32 4+ 4S5 +20
= Q..

160
—

4 (b) The workers are all 25 years old or over.

Bob says,
“The fair rate is £1.05 per T-shirt.”

Is he correct?

You must show your working.

~NMwW = £7.€0.

3 - $0-9375

_Pogais xi.2 = EVAES,

LN
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[3 marks]

[5 marks]

Turn over >
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4 (c) One week, the company needs 1o make at least 3600 T-shirts,

The mean number of T-shirts each worker makes per hour is 8
Bob will use

10 full-time workers, each working 7 hours per day for 5 days

and

some part-time workers, each working for 4% hours per day for 4 days.
How many part-time workers does he need?
You must show your working.

[5 marks]
lo x 7 S = 3)50 toved  \youcs laj J;—\, W -4 rne
v__‘rfl'l."v. Po,(
[PUL2
IV X £ = 2800 Shavks Qe weekw by  FTWs.
% 2000 - 2200 - 800 grtr ('E;(;Q.(?d 2

w L{'-S"KQ—)&_ 8 = H—FL“_ Sarts mee \')j O ne

o _ e _/

o = §5-§ = b PTWr  reeded

END OF QUESTIONS
M
18
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There are no questions printed on this page

DO NOT WRITE/ON THIS PAGE
ANSWER IN THE/SPACES PROVIDED

Copyright Information

For confidentiality purposes, from the November 2015 examinalion series, acknowledgements of third party copyright material will be published in a
separate booklet rather than including them on the examination paper or support materials, This booklet is published after each examination series and is
available for free download from www.aqa.org.uk after the live examination series,

[Permission lo reproduce all copyright malerial has been applied for, In some cases, efforts to contact copyright-holders may have been unsuccessful and

AQA will be happy to rectify any omissions of acknowledgements. If you have any querles please contact the Copyright Team, AQA, Stag Hill House, |
Guildford, GU2 TXJ.

(Copyright © 2018 AQA and its licensors. All rights reserved.
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